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1. Choose the correct answer from the
following : 1x5=5

(@) The total number of parameters to be
estimated in RBD with three treatments

and three blocks is
@i 5
(i) 6
(i) 7
(iv) 8
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(2)

(b) A BIBD is said to be symmetrical, if
number of blocks =

() number of factors
(i) number of treatments

(i) number of levels

(iv) number of degrees of freedom

(c) In the sign table for factorial design,

except for the first column M, every
column has

() equal number of “+” gng «_» signs

(i) more “4» signs than «» signs

(iii) more «.» signs than «4» signs

(iv) There is po such ryle

(d) Confounding énsures more precise

| c;onfoundeq with the
] tréatmehts
(i) blocks
(i) factorg

(iv) levelg
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(3)

(e) What does the fraction in fractional
factorial design of experiments (DOEs)
refer to? '

(i) The testing of the samples is only
done through a fraction of the
normal test range

(i) The analysis uses a fraction of the
: results from a one factor at a time

expenment

(iii) The analysis uses a fracuon of the
number of tests from a full factorial
DOE

_(iv) None of the above

2. (a) Discuss the basic principles of

© . experimental design as developed by

R. A. Fisher. Under what condition, RBD

is preferable over CRD? Discuss the

statistical model for RBD with one
observation per cell. 6+3+5=14

Or

(b) What do you understand by a missing

. plot in design of experiments? Derive a

formula for - estimating single missing

plot in mxm Latin square design. Can

the same procedure be followed for

. estimating more than. one missing
observation? .~ 5+6+3=14
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(4)

3. (a) __De‘f%ne‘ a balanced incomplete  block
o c}gesxg:r;‘ (BIBD). . State the .important
relations among the parameters of a

| BIBD and prove any one of them. |

' i

or
i ﬁ?gnii akB?SIIDa)nced incomplete block |
o 1 D) beco i
Explain  with e mes - resolvable?

- example. For a
_resolvable BIBp .
BBERD o gy Pemeer

b2v+r-1 3+2j,.4=9§

q. i : '
(a) gznxglam What are meant by main effects
Interactions in factorial

(b) What is
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1S completely
o 3+2+8=
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(5)

5. (@) What are fractional replication and
factors at two levels? Discuss the

construction of %x2k designs. 2+2+5=9

Or

(b) Write a short note on one-half fraction
of 23-factorial experiments. 9

%* %k
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